N & 0l & AF & F Al A

20118 =0iat etslH sHIIsdH ~ selIsdH

SN slEHE
B AW A

Sl SIS AY (el

p
o

SN H-SR(EH) - NRAMY - B 0] &k o I RE2

2 (A
R
J2H

O
1%
S
)3
x
@

33,976,131 39,124,852 A5,148,721
8,166,434
1,293,000
311,539
145,728
2,958,548

21,100,882

HHTHL & o W

O
11
0
02
Je
0
o
(@)}

,633,428 6,014,807 618,621

291,385
93,000
129,675
1,107,897
5,011,471

M H AT O

S E MY 1,853,095 2,253,487 400,392
251,385
93,000
129,675
127,5%
1,251,441

M HAD O

sgo st s K& 518,700 518,700 0

129,675
389,025

M) A

301 LEtEHS 518,700 518,700 0

129,675
389,025

EUNE

ELEINE= 518,700 518,700 0
QIXHA &R E XI& 798,000& * 650 518,700
129,675
389,025

BTN




SN selEHE
=R R R

el =IlE A (e @
- _ _ NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
SOIOITHONOHE BRI 2 K| 60,214 79,560 A19,346
= 24,794
2 35,420
307 212+0IH 60,214 79,560 A19,346
= 24,794
2 35,420
02 pINBAEE 60,214 79,560 £19,346
OSAATHHAHZHE X2 12,4109 * 4,850% 60,214
= 24,794
2 35,420
DIZZSHIZAERBAIL AL 5,190 5,960 ATT0
101 124l 4,190 3,960 230
04 JIZH2ZSES 4,190 3,960 230
022 ARY 34,9102 * 4% » 302 4,190
203 HRFAY| 1,000 2,000 A1,000
03 AlZZ=TQRE=TY| 1,000 2,000 A1,000
OBRYR RSYL =7 10,0002 * 103] 1,000
=910l A R0 FHIX 396,000 396,000 0
= 198,000
= 79,200
2 118,800
301 LPB A 396,000 396,000 0
= 198,000
= 79,200
2 118,800
02 HEZUBKS 396,000 396,000 0
O=AAROIA R X2 1,100,0008 * 360% 396,000
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SN selEHE
=R R R

el mOIE AN (69 &2
A B S(E) - NRAY - BES 0f & o e HIDZ2

= 198,000
= 79,200
o 118,800

=22l X2 522,060 963,106 A441,046
=2 3,360
= 518,700

201 Ler2gl 8,789 1,225 7,564
= 1,289
= 7,500

01 AtR2teldl 1,289 1,225 64
Oget==tl 590,000 590
= 590
OF=1=1:] 699,000& 699
= 699

03 A2 EH] 7,500 0 7,500
Oogtglsl & &AIEl &t 7,500
—HANFA S 1,000,000& = 32 3,000
—E2 & AAMHE 7Y 1,000,000& = 32 3,000
—Al4, #dl, =S 500,000& =+ 32 1,500

202 OH] 2,071 1,881 190
= 2,071

01 =LHOHI 2,071 1,881 190
Oog=xae|ge =8 2,071,000& 2,071
= 2,071

301 et d s 1,200 0 1,200

10 HAIAHIE A= 1,200 0 1,200
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Kl

ur

50,000& » 42 » WM * 23

307 GI12+0I A

Kd
H
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&0
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ol

i
o

[uind

& * 450,000

1,000

=2 (40kg)
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akK

&b A= H

O2011<
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-

KO

EN]

-

EYl
Ul
Gl

I

20,000& * 500&
20,000% * 1,000&

A=01&

KA
iy
M

-

~J

ol

AN5,515
205
1,750

132,061
81,381
18,330

126,546
81,586
20,080

9,280
700
900
480

1,500
600
400

1,000

2,500

1,200
400

=
o
| = 128
=
-
[mz]
[e=)

2+ 20004

=

5
& % 400

4+ 50,0000H

e

& 5,000

=

1 x 385« 100

e

500& * 5,0000H

100,000& * 7
3,000& * 300%
50,000& * 204
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2,000
3,000
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20,000& *2
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=
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SN selEHE
=R R R

9l SOt ALY (B9 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
—Jl=dANE3NH E2FN2Y Xz 400,000& * 13l 400
O= &l 2,000
—sELEs) 5,000& = 400 2,000
o=2d=+¢ 8,400
—sg .5 ¥ ASHLEMY Al 2E+E 70,0008 = 302 = 43 8,400
02 Z&=2234l 61,506 63,051 21,545
Oz332= & HAl 7,056
—ASANYEE MRS 5,320% » 35kw * 204 « 12 4,469
—sAXH2ER SEE 1,759& * 2000H 352
—sSIHIUHAIEED &EIIRS 5,320&  35kw » 128 2,235
Ozl 15,600
—EANELH 1,3002 = 100 * 8 = 8Al2t 8,320
—gA4 22y 1,300& * 120 * 3 * 10Al2¢ 4,680
—E524=2 ARUH=2 1,300& * 100 * 10 = 20H 2,600
OAEZ IS X 8,430
— 2= 7 X 2,000& = 1,545m 3,090
—Sti=8XZ sXi2ed 70,000& * 23] 140
—EAHHIE E A 5,000& = 500m 2,500
—=283 Fa 15,000& * 30& = 23l 900
-0 sX2cltl 1,000, 000& 1,000
—FANHUHE RRE= 800,000& 800
OXtgt &gt 30,420
—2SSEX 3,028,000 * 404 12,112
—A8SEX 3,253,000& = 2CH 6,506
— LS R 3,328,000& ~ 1CH 3,328
—0ls=clxt 4,237,0002 « 2CH 8,474
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ool SOlEAY (el @
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

202 O4Hl 12,960 14,580 A 1,620

01 =Y 12,960 14,580 21,620
O=s A g2 FA 135,0008 = 8F = 12& 12,960

203 ¥R =& 1,000 2,500 21,500

03 AFXHRFAH| 1,000 2,500 A 1,500
OsEAHPLFLN 100,000& = 103l 1,000

307 212t01& 30,000 30,000 0

02 BItANE X 30,000 30,000 0
Os&Ed&Es)| 2dss5 600,000& = 5CH = 10 30,000

405 AHeHESHI 1,000 1,600 A600

01 T =ZSFH SHI 1,000 1,600 A 600
OXtt 4 =2SFSHI 1,000
—Zolf ¥ 2401013 F 1,000, 000& 1,000

LdESIIXA 1,000 0 1,000

203 R4l 1,000 0 1,000

03 AMHEFIHRFAH| 1,000 0 1,000
OogEsIIFN 100,000& = 103 1,000

L= AN HEABA HIIME 1,200 1,100 100

201 LBt 3| 1,200 800 400

01 AtS 22l 1,200 800 400
Oodxt= 1,200
—SHIL X (24D]) 400,000& * 2CH 800
—EXE4 X 100,000& = 4702 400




SN selEHE
=R R R

CHel: EObE ALY (

i
40
o
{0

SN - H - SRA(EH) - MRAY - Hl

e
0%
o
=
x
2
2 (A
R
J2H
0l
N

KA E3HA 130,200 0 130,200
93,000
18,600
18,600

M HY o8

o
N

[
r

402 NSV FS] 130,200 0 130,200

93,000
18,600
18,600

M H oY

o
e
N
=

N 130,200 0 130,200
HEE NI 130,200,000& * 1JHA 130,200
93,000

18,600
18,600

Mo
oy HI

O
0z
G

M H O]

LH=S O 200 41,960 10,000 31,960

5,000
36,960

EUNCH

202 O 2,960 0 2,960

1,000
1,960

Mk

01 =LHAOYI 2,960 0 2,960
OS8HHZIXE - &5 20,000& * 37 = 49 2,960

1,000
1,960

M 1

301 Let2a=s 34,000 10,000 24,000

4,000
30,000

EUNCH

12 JIet24a =S 34,000 10,000 24,000
QUHHSEIX At 34,000,000 34,000




SN selEHE
=R R R

el mOIE AN (69 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

& 4,000
= 30,000

402 SI2H X201 5,000 0 5,000

01 CIZtEEX 5,000 0 5,000
OU=0 SBZSS HHEAE X ALY 5,000,000& 5,000

sXol=22elXE At 50,025 0 50,025
= 50,025

101 Q14| 30,025 0 30,025
= 30,025

04 JIZtHIZ2E2ENEE S 30,025 0 30,025
O=sX0I8 AR 12| 30,025,000& 30,025
= 30,025

201 et 17,000 0 17,000
= 17,000

01 AtER22/Hl 17,000 0 17,000
OS28=sXd88 & =sXN0ISAEHZAL HEY| 17,000, 000& 17,000
= 17,000

202 044l 3,000 0 3,000
= 3,000

01 WY 3,000 0 3,000
O=8sXEg 2 sX0ISAHEA 3,000,000& 3,000
= 3,000

DSEHMA Q BXANE MATR 4,780,333 3,761,320 1,019,013
= 40,000
& 980,303
i 3,760,030

HESS SIS XHEXA 90,000 44,250 45,750




SN
X XH .
S Tt

oLk

[
0
e
10

_ _ _ HEc -
SH - EB - S(BH) - MBAY - BES 0l & 24 Sl BB
307 BI2HO|H 90,000 44,250 45,750
02 BIHFABE 90,000 44,250 45,750
O Z% 223 1o 6,0002 * 15,000% 90,000
DEE B MAAEEX 1,219,446 1,208,043 11,403
< 38,472
= 1,180,974
202 01l 6,480 6,480 0
01 201l 6,480 6,480 0
ONZE & WANYH XX 0fH] 135,008 * 4% * 122 6,480
206 2| 201,126 0 201,126
< 15,972
= 185,154
01 HEH 201,126 0 201,126
Ofl Holls gl= SEOIS)| %N X 27,0008 * 6,610na 178,470
< 7,476
= 170,994
OgHE X8 40,0002 * 708K E * 0.8 22,656
< 8,496
= 14,160
400 QI2tXHEO0IH 1,011,840 1,201,563 189,723
= 22,500
= 989,340
01 QI2AR=RE 1,011,840 1,201,563 189,723
ONEX MM AHEX 7,500,000 * 10944 * 0.8 60,000
= 22,500
= 37,500
Ot SHatel ZRIAIAE %X X 12,0008 * 152 * 6,610ha * 0.8 951,840
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2A: sgls4dH
HE: s HM YD
ol DEIMMA Y LHES AKX (e de)
SA-EHH .S (BH) - HBAY - B2 Ol AF o4 &%Ei HRS2
HIIAHOIY ME HEXNJ ALY 1,123,700 1,159,125 N 35,425
402 QIZ2tXH=201A 1,123,700 1,159,125 N 35,425
01 QIZEXE28 X 1,123,700 1,159,125 N35,425
OH AE.HE XA 170,000& = 6,610ha 1,123,700
NEE MMATI K& A 176,975 235,300 N58,325
203 PR =&l 1,000 1,500 A500
03 AMEBFAHRF=AH| 1,000 1,500 A500
OLSENMAMUH =X 100,000& = 10JH A~ 1,000
402 QI2tXH=0lM 175,975 233,800 N57,825
01 It =x 175,975 233,800 Ab57,825
OZ2SAHXD| XNSAS 8,300,000& = 18CH *0.5 74,700
OHAEX HEAIE EXXSA 25,000,000& = 1CH = 0.5 12,500
OHL 2SI XA 1,920,000 * 1504 * 0.5 14,400
OEMNEOD] K& A 1,400,000& = 10CH = 0.5 7,000
OFXZAIHIDl X&AS 3,650,000& * 15CH * 0.5 27,375
OZEHHOIH K& At 8,000,000& * 10CH = 0.5 40,000
AP AL =X AlA 3,700 3,700 0
301 et A= 3,700 3,700 0
12 JIEtE &2 3,700 3,700 0
OLEZE & Mo ZSehAl& 3,700
— xR 700,000& = 102 700
-2 500,000& * 30 1,500
—&d4 300,000& * 5J0 A 1,500
gAS MAH| XA 275,220 120,528 154,692
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A =4l
=L et s)
=CF MMM Y ERS MATR chel &)
SN BB SR(S) - MRAY - BES skl e s
= 40,000
& 36,360
= 198,860
402 BI2H 201 275,220 120,528 154,692
= 40,000
& 36,360
i 198,860
01 A2 EX 275,220 120,528 154,692
OtEEL XN SMHUXNH XI& A 3102 = 50,000kg 15,500
O=cld SX MSE XA 15,000
O=ZHHl atdl XA 500,000& * 30ha 15,000
ORclg s4 Matdl X3 65,000,000& 65,000
Ol =0 EW(ZE 15,000& * 40§ * 200ha 12,000
OIS ENFTHE Mtz 80,000,000& * 1JH= 80,000
= 40,000
= 40,000
OZ MATHEHEHXI =4 At 25,200,000& 25,200
& 12,600
= 12,600
OR2lLs4 X2 At (165ha) 47,520,000& 47,520
& 23,760
= 23,760
HMAs S 80,350 92,650 A 12,300
201 LEH2HH| 1,200 500 700
01 AtER22/Hl 1,200 500 700
Oogdxt= 1,200
— AU S SEHAAL HFHIEH 600,000 * 2CH 1,200
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R =t=PIEF=
M ASA=AK|
SR LTI EERE
- _ _ NE
2MN-Z3H-AA(ZH) - MIRAIY - HES 01 AroH 01,‘;5‘; Hl wS2
o ol = A 30,757 055,737 224,980
2 12,850
7 2 17,907
DA =SHEIEX A 30,257 60,549 A30,292
2 12,850
2 17,407
101 Q1214 21,235 17,209 4,026
2 10,617
2 10,618
04 JIAH22NEL S 21,235 17,209 4,026
OdlE Sgrca o=l 9,681
— RICHAL 0124 | 34,9102 * 1% * 198 6,913
2 3,456
2 3,457
= PN L-TE= PN 34,9102 * 1% » 36 1,257
2 628
2 629
—0l &Y 1A 34,9108 * 1% » 20Y 699
2 349
2 350
—4iEE2 8,168,0008! * 0.0994 812
2 406
2 406
OFsASY elal 11,554
— oI 34,9102 * 1% x 2532 8,833
2 4,417
2 4,416
—ela 5YIRLL 34,9102 * 1 » 48 1,676
2 838
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M sHIl=dH
M ZEH SN 2
el ol S A (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
= 838
—4E2E= 10,510,000& * 0.0994 1,045
= 523
i 522
201 =& 578 3,080 A2,502
= 289
= 289
01 AtS 22l 578 3,080 A2,502
OJIZ20ZEE & 2SFASE gXt 2503 * 2,312m 578
= 289
i 289
202 O4Hl 1,400 1,760 A 360
= 700
= 700
01 WY 1,400 1,760 A 360
Oddis Hz =& 20,000& » 70 1,400
= 700
= 700
206 M=l 2,044 0 2,044
= 1,022
i 1,022
01 Mz bl 2,044 0 2,044
OH goi=E JI2HEE 29 1,000,000& * 1JH= 1,000
= 500
= 500
O dois MEa I+ 1,044,000& * 1JH= 1,044
= 522
= 522
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= 3,735
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i 11,205
SHRSEAY 34,944 33,000 1,944
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Ot SEANY 34,944,000 34,944
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OBOHXI M4 OHE ALY 10,0008 * 5,0005 50,000
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01 BIZFGEEX 171,250 81,250 90,000
OFA SYFH X2 30,0002 *1,5005 #2381 0.5 45,000
OFR2 85 &AM XA 60,000 *500%E*0.5 15,000
OFAL HRAIE MEFM X2 60, 000& *500%£*0.5 15,000
QuADIMELSI| Ald K& 6,250,000& 6,250
OHEAE XI& 60,000,000& * 2CH = 0.5 60,000
OTMR BHE DI XI& 30,000,000& * 2CH = 0.5 30,000
SWRFSA 69,218 87,863 N 18,645
P 48,452
< 6,922
= 13,844
307 QI2+0I A 69,218 87,863 A 18,645
Jl 48,452
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= 13,844
02 2ItAASE X 69,218 87,863 N 18,645
O DRI X 3302 * 839 * 2502 69,218
| 48,452
= 6,922
2 13,844
RLP SAAF 17,320 8,748 8,572
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402 SIZtXHE01H 30,000 30,000 0
01 22 EX 30,000 30,000 0
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Og=s=t st2Xl& 40,000, 000& 40,000
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& 26,250
2 39,375
01 GBIt EEX 65,625 7,560 58,065
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SIHS AL 634,418 346,108 288,310
= 273,950
= 91,280
i 269, 188

101 el 35,278 16,978 18,300

04 JIZtHIZ22 a2+ 35,278 16,978 18,300
OsJlAgH=d 23 35,278
—JI=s 48,5003 » 2% » 200 28,130
—sE5dsY 48,5009 » 2 * 41 3,977
—4AEE = 30,783,000& = 0.103 3,171

201 LetEHH| 159,410 152,230 7,180

01 AFR2t2lH| 89,752 87,412 2,340
Oget=gH| 7,652
—=JH 2UAME ez M 400 = 3,0000H 1,200
—=JIH 2UAME 10 2EorE9| 132,000& * 38 * 128 4,752
—=JIH e 2d SHOIX MHoIE= 100,000& = 12& 1,200
—sJIH SUHAY = JHE 500,000& * 14 500
oz2dg=¢ 2,100
—sSIIHSUAE &g 70,000& * 10 * 33 2,100
Oodxt= 80,000
—=J|H ALY 28Xt Xt 100,000& = 8002l 80,000

02 22234l 69,658 64,818 4,840
Ozs32= & HAl 23,651
—dIIe3 1,851
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M sHIl=dH

M sENEMY

&2 sHIIAHS ALY (el &
SN SRI(BH) - MRAY - BES 0] &k o8 e Hl =2
UM &0 JIE= 1,0708 ~14kW » 3= * 12€ 540
JHAIY &1 AIEE 36.4& = 1,000kW x 35 » 12& 1,311
—UAE XIAHX B8 150,000& = 10H = 12& 1,800
—JUAE ZHl 2= 80,000& * 250CH 20,000
OAEEHIS X 46,007
—AU=IIH, BEEH sIIH S X8I(3000H) 45,000,000& 45,000
—SJIHSUHAIE &1 XY 1,017& » 330m* * 33 1,007
206 M=l 3,000 2,000 1,000
01 M=H| 3,000 2,000 1,000
OSIASUAME 2+ & e 20,000& * 1508 3,000
401 A &HIYL 2048 64,000 70,000 26,000
01 Al&Hl 64,000 70,000 26,000
OsJIH SUHAEE SIAETHU & X 40,000,000 * 14 40,000
OsJH 2dUMEE SSEHUMU &X 20,000,000& = 14] 20,000
OsJIH 2HAISE gHSE2 & 4,000,000& = 14 4,000
405 AHoHESHI 372,730 104,900 267,830
= 273,950
< 91,280
= 7,500
01 ML ESHSHI 372,730 104,900 267,830
OsJlHdUed AR HIIg 2 300,000& = 15& 4,500
OsIAHLUAMY J1E5 7 365,230,000& 365,230
= 273,950
= 91,280
OsSA(=8]) 7 3,000,000& = 1CH 3,000
SsJIH X& 678,850 633,360 45,490
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M sHIl=dH

M sENEMY

Rl sIAHE A (el &
SA-BY () - HRAY - BES 0f & o4 e HI DS 2

101 el 17,640 0 17,640

04 DI NZZ2ASES 17,640 0 17,640
OsJA=dxcluszd 17,640
—JEs 48,5003 « 13 »290L 14,065
- =852+ 48,5003« 1 =41 1,989
—4U =2 15,392,000 *0.103 1,586

201 €erEgl 6,810 6,410 400

01 AtR 22l 1,850 1,450 400
Oget=&H] 250
—SJHusEd S8 MH 50,000 = 504 250
ou=m 1,600
—SJA=3l el 22 100,000 * 4% * 43| 1,600

02 S&2gH| 4,960 4,960 0
(@)N=2:] 4,960
—SIAMNEY HURFU 6,000& * 204 = 80 960
—sJ)HuNsEd dUEE =FU 2,000& = 10004 » 20 4,000

202 044 5,400 5,400 0

01 SO 5,400 5,400 0
OsJ1H X& gdR=4 12,5002 = 4% » 128 5,400

203 ER =4l 500 550 A50

03 A= RFXY| 500 550 250
OsJlA=8l+cl g§2F4 100,000& = 52| 500

206 X =4l 102,000 84,000 18,000

01 M=Z8l 102,000 84,000 18,000
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M sHIl=dH

M sENEMY

Sl =05 Al (e @
SA-BY () - HRAY - BES 0f & o4 e HI DS 2

OsJlAH=slx2 5 10,000& * 8,000& 80,000
OsJlHl=slsel 87 € M& 10,0002 * 2005 2,000
OsIIH MEXNSEHEAS 22 (20004) 20,000,000 20,000

207 AIHEH 6,000 0 6,000

02 & AHIHEHI 6,000 0 6,000
OsIIAEXRAY 2ol T2 s/wle 6,000,000& * 14 6,000

301 et d s 1,500 1,000 500

10 HAIEHIE & S 1,500 1,000 500
OsIAHUNSEN 24 50,0008 » 30¥ 1,500

402 2I2tX=01A 539,000 536,000 3,000

01 22 EX 539,000 536,000 3,000
Oos8d=2)l 38 A& 110,000,000& 110,000
O&fgax) 2= X& 120,000,000 120,000
ORg=E) 38 A& 4,500,000& = 200H = 0.4 36,000
oY) ssNE 5,000,000 »20CH*0.4 40,000
OXsg2dHI S5 A& 4,000,000& * 60CH = 0.4 96,000
Oottsxzelll 38X 30,000,000 30,000
OitsEd8) S3sA& 25,000,000 25,000
Obts=2J|(32718) 32 A& 1,500,000& = 60CH = 0.4 36,000
ORJIZEHER) 38 K& 3,000,0008 = 20CH = 0.5 30,000
o242 35 K& 2,000,000% = 20CH = 0.4 16,000

SIHAUFEHAY 27,475 34,794 AT7,319
= 10,650
o 16,825

201 €er=gl 600 2,194 A1,594
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600,000& = 1CH

600
600
600

800

A 200

206 M=l

M

6,530

1,265
5,265

3,400

3,130

01 M=l

OsJIAE0ZI)IzwE MEF

O
Ol
>
x
o
rz
=
k)
=2
=
=
by

23,0003 * 1108

20,0002 * 200CH

M

6,530
2,530

1,265
1,265
4,000

3,400

3,130

301

ne
T
HT
0z
oy

M

2,345
385
1,960

2,200

145

=
>
OF
S
=
I
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O

O
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35,000& » 459
7,000& = 110

M

2,345
1,575
770

385
385

2,200

145

405 KH&HFHSHI

M

18,000

9,000
9,000

26,000

/8,000

01 MR ESF=H

18,000, 000&

M

18,000
18,000

18,000

9,000
9,000

26,000

/8,000
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M sHIl=dH

M sENEMY

A SIIAH ALY

m

0
P
10

SN B EP(EH) - HIRAN -

i
0z
Jo

Off &4

2 (A
R
J2H

Ol

==

=
ol
0
Ol
b
o
O
S
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0
I
=
R

M

237,400

80,916
156,484

202,380

35,020

206 M=l

UL

23,920

7,176
16,744

28,380

A4,460

01 M=Hl

OsJIAH ANss8HI| 35

230,000&* 104CH * 1.0

EURCH

23,920
23,920

7,176
16,744

28,380

A4,460

=)
N

402 =01 ™

[
:

Ml

213,480

73,740
139,740

174,000

39,480

01

(m}
o
P}
i
H
i

r

O
HT
02
0!
]
w
-
0K
il

2,000,000& + 330CH * 0.3

4,300,000& * 6CH = 0.6

UL

M H1

213,480

198,000

66,000
132,000

15,480

7,740
7,740

174,000

39,480

02

222,848

221,961

887

49,500

47,313

2,187

49,500

47,313

2,187

49,500

47,313

2,187

48,5002 » 1€ » 300

49,500
29,561
14,550

47,313

2,187
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M sHIl=dH
I HY2IGH (s I=HH)
el A2 A (sII=HH) (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
—25IHa3 14,550,000& * 0.10 1,455
—J|Z2=E 14,550,000& * 4/12 4,850
—A2AZ R 9,090 x1H * 20Al2++12E 2,182
—RE5dsE 48,5003 * 52 2,522
—HXREsItrY 48,500& » 21 1,019
—Jl2soy 26,578,000& = 0.018 479
—&MTHEEZ 27,057,000& = 0.026 704
—I=sH(Hg=) 150,000& = 4€& 600
—E£& 0| 100,000& 18 =123 1,200
O&E At2tel 19,939
—Jl2a 34,9108 » 198 = 300 10,473
— 23 10,473,000& * 0.10 1,048
—J|Z2sE 10,473,000& = 4/12 3,491
— A2t =4 6,550&3 * 20Al2+ « 12& 1,572
— R 34,9103 » 52 1,816
—dlRaEst=g 34,9108 » 21 734
—Jl2say 18,085,000& = 0.018 326
—&MHEE= 18,411,000& = 0.026 479
23t (solsdd) 173,348 174,648 21,300
Jl2dul(sdlIsHdH) 173,348 174,648 21,300
201 et 118,228 118,888 2660
01 AtS 22l 91,330 91,990 A 660
Oget=ZH| 23,200,000& 23,200
o=2g=¢ 29,850
— 2| 50,000& * 2% * 116 11,600
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sgII=dH
EEEEEFICE
Jl=ddl(sedls e EE
B . I (31 ) - Lo e 52
— =2l 50,0003 = 18 =365 18,250
o=l 38,280
—sgdRn 5,0008 = 198 » 11&d » 122 12,540
—F4H 5,0008 = 178 » 11& » 123 11,220
—sl=u 5,0008 = 22 » 11 » 123 14,520
02 =323l 26,898 26,898 0
O=s323Hl 26,898
—332s % 26,898,000 26,898
202 O 34,800 35,400 A 600
01 SO 34,800 35,400 A600
oJl=gR=d 34,800
—sgdXRu 50,0003 = 198 =12& 11,400
— =4k 50,0008 » 178 = 123 10,200
—sJI= 50,0003 » 228 » 123 13,200
203 Y2 = Y| 14,920 14,960 A40
02 It E I 2,320 2,360 A40
Od g R=4H| 40,000& * 58 2,320
04 2EA2SERFaH] 12,600 12,600 0
O=sg33u 350,000& = 123 4,200
O=4tt 350,000& = 128 4,200
Osgll=lt 350,000& = 12& 4,200
204 X2 AY| 5,400 5,400 0
01 AMSER+ 3| 5,400 5,400 0
(OF~TS; 150,000& = 123 1,800
(@MIESs 100,000 = 3 * 128 3,600
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M sI|=HH
(sYI|=HH)
SR LHEHHX S (sSII=HH)

H: HRES

el

[l
10

ST (BIH) - MBAIY - B A (’%ng; HRS2

MRES(= 1,200,000 1,350,000 150,000
LHEHH K& (=D = ,200,000 1,350,000 A 150,000
WEHAHX S (D] ,200,000 1,350,000 150,000
404 SIS X2 200,000 350,000 A 150,000
SIIPEE 200,000 350,000 A 150,000

Otz 200,000,000& * 14! 200,000
702 JIaNMES 1,000,000 1,000,000 0
28&E=2 1,000,000 1,000,000 0

Os&XN& 1,000,000, 000& 1,000,000




